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BOARD DIPLOMA EXAMINATION, (C-16) ??

OCT/NOV—2018 \3@ ”
DCE—FOURTH SEMESTER EXAMINAT
QUANTITY SURVEYING Q?g
Time : 3 hours | 4?\/ [ Total Marks : 80
i
PART—QJ 3x10=30

Instructions : (1) Answer all qu@bns
(2) Each quesL@q carries three marks.

(3) Answer?a‘f)uld be brief and straight to the point and
shall@o exceed five simple sentences.

(2%
1. Write the formats for preparation of detailed estimation and
abstract esgtimation.

2. Wl%te a short note on plinth area method for approximate estimate.
?\.
3. The internal dimensions of a room are 6m x 4 m. Find the quantity

of sand filling in basement, if the height and width of basement are
0.8 m and 0.4 m respectively. The wall thickness of room is 0.30 m.

4. The plan showing the gable end room. Calculate the.

(a) Length of ridge piece
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(b) Number of common rafters spaced @ 500 mm c/c.

:r __________________________________ ::/Rldge piece
E Room i
S |
E 6mx 4 m i
] ! Q
P
Wall thickness = 0.30 m §“
0)
Eaves projection = 0.50 m @
0«
&
5. Define the terms : \/\/
\'s
(a) Analysis of rates ?‘
99
(b) Standard data book

e\

6. Calculate the quantity h@eel required for main straight bars

shown in fig. Assume t nd bottom clear cover as 40 mm, end
cover as 25 mm, Welgégof 16 mm & bar is 1-58 kg/m.

Q~

2Nos 12mm @
Anchor bars 2 Nos 12mmg
\ Anchor Bars
3
8o @ Stirmps A E
at 200mm c/ [ 8mm Sti
e - AN ' /] S at 200mm o
4 Nos Main 1émm g |/ \4
%’ 4Nos 16mm dia Main Bars
5.00m / - (2Crank+2st)
e ‘

?\.

7. Find the volume of earth work in a embankment of length 2 km,
top width is 6 m, depth is 4 m and side slops is 2 : 1.
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8. An RCC square column footing of a cover head tank is shown in fig.
Calculate (a) Quantity of RCC (1:2:4) footing in square portion (b)
Quantity of RCC (1:2:4) footing in Trapezoidal portion.

_.,—/b—?r-

—_— ce—o5m

2

o
9. List any six different forms of value in @nection with the
valuation of property. Q?\/

o
10. A newly constructed two storied bGilding in heart of the city is
taken for office accommodation. Thé cost of the building is arrived
by plinth are basis includin provisions is Rs. 20,00,000. The
seasonal interest on capic(i 6%. Calculate monthly rent.

&

%Q~ PART—B 10x5=50

Instructions : (1) Aaswer any five questions.
2 Each question carries ten marks.

N
& (3) The answers should be comprehensive and the
%‘ criterion for valuation is the content but not the
el length of the answer.

?\.
11. Prepare the detailed estimate for the following items of work for the
building shown in the figure below :

(@) CC (1:5:10) bed for foundation.

(b) Brick masonry in CM (1:6) for superstructure wall without
deductions (excluding parapet wall).
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(c) Plastering with CM (1:5) 12 mm thick for inside the building
without deductions.

Parapet wall
300mm think

300mm \hmk %]

BUILDING

12. The plan and section of part of a compound w as shown in the
figure. Calculate the quantity of items of Wg@k as given below :

(a) Earthwork in excavation for foundatfen.
(b) PCC (1:4:8) bed ®§>

(c) Brick masonry in CM (1:5) g&fﬁred for footing and compound
wall.

- 0.3M Thick

% / Byick pall
{ >Y /Z} A aL
0-5m PR G
D ™ —"_9{ _:JL = e:;ghje—ﬁwc_t roort bov %hﬁ

A\ 230 Lectk-poc ug) gy

. Plon 3
v -0.3m A

v. Section P

13. Prepare the data sheet and calculate the cost of the items given
below :

(a) Flooring with 25 mm thick polished Shahabad stone of 1st
quality of size not exceeding 400 mm x 400 mm, laid over set
in CM (1:10) 16 mm thick base coat-10 sq.m.
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(b) Painting with white cement paint 1st quality two coats to walls
after surface is thoroughly cleaned including cost and
conveyance of materials to site etc., 10 sq. m.

Lead statement :

(1) Materials and labour required for flooring with 25 mm
thick polished Shahabad stone—unit-10 sq. m.

10-10 sq.m.
012 cu, m.
0-96 nos.
2:24 nos.
2:20 nos.
1-10 nos.
LS

Polished stone
CM (1:10)

<
Mason I class \?‘
Mason II class §
Man mazdoor @6

Woman mazdoor

2O
Sundries ((?~
v

N

(2) Painting with white cement paint—W—lO sq. m.

35 kg
0-15 nos.
1-35 nos.
0-50 nos.
1-10 nos.
LS

<

White cement pai@tx
Mason I clas Q\/
Mason II (ésl\ss

Man mazédoor

Wo mazdoor

81} dries

&=
Sl. Materials @’\ Rate at source | Leads Conveyance
No. & (in Rs.) (in km)| changes/km
1 Polished Stone 1650/10 sq. m 8 10/10 sg. m.
2. 4§gaa 150/cu.m 20 | 160.00 for 20
. km/1 cu.m.

3. \x\ Cement 3400/MT Local —

4. @Lh‘ite cement paint 15/kg Local —

Labour charges :

/6426

1st class mason
2nd class mason
Man mazdoor

Woman mazdoor

Rs. 190-00/day
Rs. 180-00/day
Rs. 190-00/day
Rs. 150-00/day

Mixing charges for CM Rs. 30-OO/m3
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14. Prepare the data sheet and calculate the cost of items given below :

Lead statement of materials :

(@) Cement concrete (1:4:8) using 40 mm HBG metal unit—1m?3

(b) RR masonry in CM (1:6) unit—1m?
Materials and labour required :
CC (1:4:8) using 40 HBG metal—lcu.m

0.92m?3 40 mm HBG metal
0-46m> Sand

0-115m3 Cement

0:2 nos. Mason

3-2 nos. Mazdoors

LS Sundries

RR masonry in CM (1:6)—1 cu.m.

1.1m3
0-34m3
1-8 nos.
2:8 nos.

LS

Lead statement :

Rough stone
CM (1:6)
Mason
Mazdoors

\
Sundries d\e

\({o
&

O)Q

O‘\

N
s

&
v
?\/

Sl. Materials QLR‘ate at source| Leads Conveyance
No. <2fb (in Rs.) (in km) changes/km
1 |40 mm HBQ metal| 400 per m® |10km MR| Rs. 2 per km
2. i@d 90 per m® |8 km MR| Rs. 2 per km
3. @ugh stone 150 per m>® |5 km MR| Rs. 3 per km
4. ‘?;?‘ Cement 2200 per MT Local —
Labour charges :
() Mason first class Rs. 223:00 per day
(i) Mason second class Rs. 217-:00 per day
(iii) Mazdoor Rs. 212-50 per day
3

(iv) Hand mixing charges of cement mortar Rs. 34-00 per m
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15. The ground levels along the ridge of proposed canal area are shown

below :
Station A B C D E F G
Ground | 252.0 | 252.15 | 251.70 | 251.75 | 251.95 | 251.85 | 252.0
levels

16.

17.

?\.v '; 375 m

The bed of the canal is 4.0 m wide and sloped 1 in 100 downw§ds
in longitudinal direction. The side slopes are 2:1 and the *level
of canal at A is 250.00. Determine the volume of the eazge\work in
cutting, if the chainage between the points is 20 rr\t_@y

(a) Trapezoida Rule A
(b) Prismoidal Rule \f</
N

Prepare the detailed estimate for the &ment concrete road of
1.50 km length for the following ite of work as shown in the
figure below :

(@)
() Wearing coat of CC (1:2& with 20 mm size HBG metal
100 mm thick Q/d\
(i) Base coarse of CC (15&) with 40 mm size HBG metal 150 mm
thick.

%, Wearing coat : C.C : 2 : 4dwith 20 mm size

HBG metal 100 mim thick
< ?_ o
. 3 8 .. E \

with 40 mm
metal 15@

Existing
_ WBM Road

Prepare the detailed estimate for the following items of work for a
slab culvert shown in the figure :

() Earth work excavation for foundation for abutments and
returns.

(b) CC (1:4:8) for abutment and returns.
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(c) RCC (1:2:4) for deck slab.

1 RG.C1:2:4

7 EE
%
7

s /) 1

0|06

S ‘B I oh
~HALF SECTIONALELEV;A'HON - ?{2
12m i _ i Q§
Il 0*‘
! &£

g :[ ' \\Vv q

SLAB &WERT

<>Vv

18. The total cost of the newly constructed building is Rs. 15 lacks.
Find the depreciation cost of k@ ing after 25 years by

(a) Straight line method a

(b) Constant percentageﬁe hod If the scrap value of the building
is Rs. 1,20,000. é@ume the life of building as 80 years.

<& * * *k
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